Understanding a whole

2. Children should hawve circled: 1st shape (rectangle),
4th shape (octagon), £, &

3. Children should hawe matched the drawings that
show the following fractions:
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6. Children could have explainad this in differant ways,
2g

The slices Jack ate could have been bigger than the
slices that Jemima ate.

If Jernima ate 3 thirds of a cake and Sam ate 2 halves
of a cake, they would both have eaten the same
amount {a whole cake).

Children should have circled the statement always true’

They could have written any fraction where the
nurnerator and denominator are the same. They could
have drawn their fraction using a shape (splitting it into
the appropriate number of parts and shading all parts)
or a set of objects (organising them into the appropriate
number of sets and shading all sets).



